Bid Tabulation

PROJECT #1 Asphalt Overlay Project #1

(Aldershot Lane, Ashcroft Drive, Blanche Drive, Boxelder Road, Colchester Road, James Road, Lilias Drive, Seaford Drive, Sugarbush Road, Wildhurst Lane, WWTP Drive)

Eng. Estimate: \$402,000,00

Date: Time: Opened Witnes:		Thursday, May 3, 2018 2:00 PM Paul Roman, P.E. R. Shultz, P.E., B. Biniker, J. Bosh	- -		6157 Wal	alt & Paving, Inc bridge Road e, OH 43465	2020	Paving, Inc. OCR 66 rg, OH 43431	218 E.	e rgman, Inc. 9th St. 43430-1634	1913 Nebra	and Excavating aska Avenue OH 43607	1539 Lov	trucion Company well Street OH 44035
Bid Tab		B. Biniker	-	Bid Bond:	Per	nal Sum	Per	nal Sum	Pena	al Sum	Pena	ıl Sum	Pena	al Sum
Ref No.	ODOT Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
		Aldershot Lane – Ashcroft Drive to Lilias Driv	re .											
1	254	Pavement Planing	1122	SY	\$1.50	\$1,683.00	\$1.70	\$1,907.40	\$3.00	\$3,366.00	\$3.00	\$3,366.00	\$1.70	\$1,907.40
2	301	Bituminous Aggregate Base, Spot Repairs	30	CY	\$275.00	\$8,250.00	\$290.00	\$8,700.00	\$250.00	\$7,500.00	\$228.00	\$6,840.00	\$325.00	\$9,750.00
3	407	Tack Coat	112	Gal	\$3.00	\$336.00	\$1.95	\$218.40	\$3.00	\$336.00	\$5.00	\$560.00	\$1.70	\$190.40
4	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	39	CY	\$166.00	\$6,474.00	\$169.00	\$6,591.00	\$174.00	\$6,786.00	\$248.00	\$9,672.00	\$165.00	\$6,435.00
5	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	23	CY	\$166.00	\$3,818.00	\$169.00	\$3,887.00	\$174.00	\$4,002.00	\$246.00	\$5,658.00	\$175.00	\$4,025.00
6	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,335.00	\$1,335.00	\$1,400.00	\$1,400.00
7	617	Compacted Aggregate, Type A	4	CY	\$20.00	\$80.00	\$140.00	\$560.00	\$100.00	\$400.00	\$225.00	\$900.00	\$150.00	\$600.00
		Ashcroft Drive - Bay Shore Road to Seaford Dr												
8	254	Pavement Planing	3284	SY	\$1.50	\$4,926.00	\$1.70	\$5,582.80	\$3.00	\$9,852.00	\$2.50	\$8,210.00	\$1.70	\$5,582.80
9	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$275.00	\$4,125.00	\$290.00	\$4,350.00	\$250.00	\$3,750.00	\$388.00	\$5,820.00	\$325.00	\$4,875.00
10	407 441	Tack Coat Asphalt Concrete Surface Course, Type 1, (448), PG64-22	328 114	Gal CY	\$3.00 \$166.00	\$984.00 * \$18,924.00	\$1.95 \$169.00	\$639.60 \$19,266.00	\$3.00 \$174.00	\$984.00 \$19,836.00	\$3.00 \$171.00	\$984.00 \$19,494.00	\$1.70 \$165.00	\$557.60 \$18,810.00
12	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	68	CY	\$166.00	\$11,288.00	\$169.00	\$11,492.00	\$174.00	\$11,832.00	\$183.00	\$12,444.00	\$175.00	\$11,900.00
13	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,191.00	\$1,191.00	\$650.00	\$650.00
14	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,750.00	\$1,750.00	\$1,200.00	\$1,200.00	\$1,285.00	\$1,285.00	\$4,000.00	\$4,000.00
15	617	Compacted Aggregate, Type A	10	CY	\$20.00	\$200.00	\$140.00	\$1,400.00	\$100.00	\$1,000.00	\$175.00	\$1,750.00	\$150.00	\$1,500.00
		Blanche Drive – Bay Shore Road to Wildhurst L	ane											
16	254	Pavement Planing	294	SY	\$1.50	\$441.00	\$1.70	\$499.80	\$3.00	\$882.00	\$9.00	\$2.646.00	\$1.70	\$499.80
17	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$275.00	\$4,125.00	\$290.00	\$4,350.00	\$250.00	\$3,750.00	\$394.00	\$5,910.00	\$325.00	\$4,875.00
18	407	Tack Coat	29	Gal	\$3.00	\$87.00	\$1.95	\$56.55	\$3.00	\$87.00	\$5.00	\$145.00	\$1.70	\$49.30
19	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	10	CY	\$166.00	\$1,660.00	\$169.00	\$1,690.00	\$174.00	\$1,740.00	\$404.00	\$4,040.00	\$165.00	\$1,650.00
20	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	6	CY	\$166.00	\$996.00	\$169.00	\$1,014.00	\$174.00	\$1,044.00	\$467.00	\$2,802.00	\$175.00	\$1,050.00
21	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$200.00	\$200.00	\$461.00	\$461.00	\$600.00	\$600.00
22	617	Compacted Aggregate, Type A	2	CY	\$20.00	\$40.00	\$140.00	\$280.00	\$100.00	\$200.00	\$392.00	\$784.00	\$150.00	\$300.00
		elder Road – South Shore Boulevard to Plympto												
23	254	Pavement Planing	1611	SY	\$1.50	\$2,416.50	\$1.70	\$2,738.70	\$3.00	\$4,833.00	\$3.00	\$4,833.00	\$1.70	\$2,738.70
24	301	Bituminous Aggregate Base, Spot Repairs	14	CY	\$275.00	\$3,850.00	\$290.00	\$4,060.00	\$250.00	\$3,500.00	\$447.00	\$6,258.00	\$325.00	\$4,550.00
25 26	407 441	Tack Coat Asphalt Concrete Surface Course, Type 1, (448),	161 56	Gal CY	\$3.00 \$166.00	\$483.00 \$9,296.00	\$1.95 \$169.00	\$313.95 \$9,464.00	\$3.00 \$174.00	\$483.00 \$9,744.00	\$3.00 \$189.00	\$483.00 \$10,584.00	\$1.70 \$165.00	\$273.70 \$9,240.00
27	441	PG64-22 Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	34	CY	\$166.00	\$5,644.00	\$169.00	\$5,746.00	\$174.00	\$5,916.00	\$205.00	\$6,970.00	\$175.00	\$5,950.00
28	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,191.00	\$1,191.00	\$650.00	\$650.00
29	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$200.00	\$200.00	\$1,812.00	\$1,812.00	\$2,000.00	\$2,000.00
30	617	Compacted Aggregate, Type A	5	CY	\$20.00	\$100.00	\$140.00	\$700.00	\$100.00	\$500.00	\$250.00	\$1,250.00	\$150.00	\$750.00
		Colchester Road – Ashcroft Drive to Seaford Dr	rivo				,	,					,	
31	254	Pavement Planing	1891	SY	\$1.50	\$2,836.50	\$1.70	\$3,214.70	\$3.00	\$5,673.00	\$3.00	\$5,673.00	\$1.70	\$3,214.70
32	301	Bituminous Aggregate Base, Spot Repairs	16	CY	\$275.00	\$4,400.00	\$290.00	\$4,640.00	\$250.00	\$4,000.00	\$405.00	\$6,480.00	\$325.00	\$5,200.00
33	407	Tack Coat	189	Gal	\$3.00	\$567.00	\$1.95	\$368.55	\$3.00	\$567.00	\$3.00	\$567.00	\$1.70	\$321.30
34	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	66	CY	\$166.00	\$10,956.00	\$169.00	\$11,154.00	\$174.00	\$11,484.00	\$180.00	\$11,880.00	\$165.00	\$10,890.00
35	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	39	CY	\$166.00	\$6,474.00	\$169.00	\$6,591.00	\$174.00	\$6,786.00	\$192.00	\$7,488.00	\$175.00	\$6,825.00
36	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$200.00	\$200.00	\$1,335.00	\$1,335.00	\$2,500.00	\$2,500.00
37	617	Compacted Aggregate, Type A	6	CY	\$20.00	\$120.00	\$140.00	\$840.00	\$100.00	\$600.00	\$211.00	\$1,266.00	\$150.00	\$900.00

Bid Tabulation

PROJECT #1 Asphalt Overlay Project #1

(Aldershot Lane, Ashcroft Drive, Blanche Drive, Boxelder Road, Colchester Road, James Road, Lilias Drive, Seaford Drive, Sugarbush Road, Wildhurst Lane, WWTP Drive)

Eng. Estimate: \$402,000.00

	Time: 2:00 PM Opened by: Paul Roman, P.E. Witness: R. Shultz, P.E., B. Biniker, J. Bosh				Bowers Asphalt & Paving, Inc 6157 Walbridge Road Walbridge, OH 43465		Gerken Paving, Inc. 2020 CR 66 Gibsonburg, OH 43431		Henry W. Be 218 E. Genoa, OH	9th St.	1913 Nebra	g and Excavating aska Avenue OH 43607	ng Kokosing Construcion Company 1539 Lowell Street Elyria, OH 44035	
Bid Tab	:	B. Biniker		Bid Bond:	Pen	al Sum	Per	nal Sum	Pena	l Sum	Pena	al Sum	Pena	al Sum
Ref No.	ODOT Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
		James Road – Plympton Circle to Lagundovie R	nad											
38	254	Pavement Planing	3179	SY	\$1.50	\$4,768.50	\$1.70	\$5,404.30	\$3.00	\$9.537.00	\$2.50	\$7.947.50	\$1.70	\$5,404,30
39	301	Bituminous Aggregate Base, Spot Repairs	20	CY	\$275.00	\$5,500.00	\$290.00	\$5,800.00	\$250.00	\$5,000.00	\$366.00	\$7,320.00	\$325.00	\$6,500.00
40	407	Tack Coat	318	Gal	\$3.00	\$954.00	\$1.95	\$620.10	\$3.00	\$954.00	\$3.00	\$954.00	\$1.70	\$540.60
41	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	110	CY	\$166.00	\$18,260.00	\$169.00	\$18,590.00	\$174.00	\$19,140.00	\$173.00	\$19,030.00	\$165.00	\$18,150.00
42	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	66	CY	\$166.00	\$10,956.00	\$169.00	\$11,154.00	\$174.00	\$11,484.00	\$185.00	\$12,210.00	\$175.00	\$11,550.00
43	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,192.00	\$1,192.00	\$650.00	\$650.00
44	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$1,335.00	\$1,335.00	\$4,000.00	\$4,000.00
45	617	Compacted Aggregate, Type A	9	CY	\$20.00	\$180.00	\$140.00	\$1,260.00	\$100.00	\$900.00	\$183.00	\$1,647.00	\$150.00	\$1,350.00
		Lilias Drive - Bay Shore Road to James Road	1											
46	254	Pavement Planing	2183	SY	\$1.50	\$3,274.50	\$1.70	\$3,711.10	\$3.00	\$6,549.00	\$2.50	\$5,457.50	\$1.70	\$3,711.10
47	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$275.00	\$4,125.00	\$290.00	\$4,350.00	\$250.00	\$3,750.00	\$426.00	\$6,390.00	\$325.00	\$4,875.00
48	407	Tack Coat	218	Gal	\$3.00	\$654.00	\$1.95	\$425.10	\$3.00	\$654.00	\$3.00	\$654.00	\$1.70	\$370.60
49	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	76	CY	\$166.00	\$12,616.00	\$169.00	\$12,844.00	\$174.00	\$13,224.00	\$171.00	\$12,996.00	\$165.00	\$12,540.00
50	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	45	CY	\$166.00	\$7,470.00	\$169.00	\$7,605.00	\$174.00	\$7,830.00	\$185.00	\$8,325.00	\$175.00	\$7,875.00
51	611	Manhole, Adjusted to Grade	3	EA	\$900.00	\$2,700.00	\$900.00	\$2,700.00	\$800.00	\$2,400.00	\$1,082.00	\$3,246.00	\$650.00	\$1,950.00
52	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,600.00	\$1,600.00	\$500.00	\$500.00	\$1,335.00	\$1,335.00	\$2,750.00	\$2,750.00
53	617	Compacted Aggregate, Type A	7	CY	\$20.00	\$140.00	\$140.00	\$980.00	\$100.00	\$700.00	\$183.00	\$1,281.00	\$150.00	\$1,050.00
		Seaford Drive – Ashcroft Drive to Lagundovie R												
54	254	Pavement Planing	2952	SY	\$1.50	\$4,428.00	\$1.70	\$5,018.40	\$3.00	\$8,856.00	\$2.60	\$7,675.20	\$1.70	\$5,018.40
55	301	Bituminous Aggregate Base, Spot Repairs	20	CY	\$275.00	\$5,500.00	\$290.00	\$5,800.00	\$250.00	\$5,000.00	\$366.00	\$7,320.00	\$325.00	\$6,500.00
56	407	Tack Coat	295	Gal	\$3.00	\$885.00	\$1.95	\$575.25	\$3.00	\$885.00	\$3.00	\$885.00	\$1.70	\$501.50
57	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	103	CY	\$166.00	\$17,098.00	\$169.00	\$17,407.00	\$174.00	\$17,922.00	\$171.00	\$17,613.00	\$165.00	\$16,995.00
58	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	62	CY	\$166.00	\$10,292.00	\$169.00	\$10,478.00	\$174.00	\$10,788.00	\$191.00	\$11,842.00	\$175.00	\$10,850.00
59	611	Manhole, Adjusted to Grade	3	EA	\$900.00	\$2,700.00	\$900.00	\$2,700.00	\$800.00	\$2,400.00	\$1,082.00	\$3,246.00	\$650.00	\$1,950.00
60	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,750.00	\$1,750.00	\$300.00	\$300.00	\$1,785.00	\$1,785.00	\$3,750.00	\$3,750.00
61	617	Compacted Aggregate, Type A	9	CY	\$20.00	\$180.00	\$140.00	\$1,260.00	\$100.00	\$900.00	\$155.00	\$1,395.00	\$150.00	\$1,350.00
		Sugarbush Road - Ashcroft Drive to Grisell Ro									•			
62	254	Pavement Planing	4509	SY	\$1.50	\$6,763.50	\$1.70	\$7,665.30	\$3.00	\$13,527.00	\$2.00	\$9,018.00	\$1.70	\$7,665.30
63 64	301 407	Bituminous Aggregate Base, Spot Repairs Tack Coat	38 451	CY Gal	\$275.00 \$3.00	\$10,450.00 \$1,353.00	\$290.00 \$1.95	\$11,020.00	\$250.00	\$9,500.00	\$349.00	\$13,262.00	\$325.00	\$12,350.00
65	441	Asphalt Concrete Surface Course, Type 1, (448),	157	CY	\$166.00	\$1,353.00	\$1.95	\$879.45 \$26,533.00	\$3.00 \$174.00	\$1,353.00 \$27,318.00	\$3.00 \$165.00	\$1,353.00 \$25,905.00	\$1.70 \$165.00	\$766.70 \$25,905.00
66	441	PG64-22 Asphalt Concrete Surface Course, Type 1, (448),	94	CY	\$166.00	\$15,604.00	\$169.00	\$15,886.00	\$174.00	\$16,356.00	\$184.00	\$17,296.00	\$175.00	\$16,450.00
67	611	PG64-22 (Scratch Course) Manhole, Adjusted to Grade	3	EA	\$900.00	\$2,700.00	\$900.00	\$2,700.00	\$800.00	\$2,400.00	\$1,082.00	\$3,246.00	\$650.00	\$1,950.00
68	614	Maintenance of Traffic	1	LS	\$250.00	\$2,700.00	\$1.750.00	\$2,700.00	\$300.00	\$300.00	\$1,082.00	\$1,335.00	\$5,500.00	\$1,950.00
69	617	Compacted Aggregate, Type A	13	CY	\$20.00	\$260.00	\$1,730.00	\$1,750.00	\$100.00	\$1,300.00	\$1,335.00	\$1,794.00	\$150.00	\$1,950.00
- 55	017	Compadica riggrogato, Type A	10	٠.	Ψ20.00	Ψ200.00	Ψ1-0.00	ψ1,020.00	Ψ100.00	ψ1,000.00	ψ100.00	ψ1,10-1.00	ψ100.00	ψ1,000.00

Bid Tabulation

PROJECT #1 Asphalt Overlay Project #1

(Aldershot Lane, Ashcroft Drive, Blanche Drive, Boxelder Road, Colchester Road, James Road, Lilias Drive, Seaford Drive, Sugarbush Road, Wildhurst Lane, WWTP Drive)

Eng. Estimate: \$402,000.00

Date: Time: Opened Witnes	R. Shultz, P.E., B. Biniker, J. Bosh		- - -		6157 Wal	Bowers Asphalt & Paving, Inc 6157 Walbridge Road Walbridge, OH 43465		Paving, Inc. O CR 66 rg, OH 43431	218 E.	ergman, Inc. 9th St. 43430-1634	1913 Nebra	g and Excavating aska Avenue OH 43607	1539 Lov	rucion Company vell Street bH 44035
Bid Tal	ODOT	B. Biniker		Bid Bond:		nal Sum		nal Sum		l Sum		al Sum		l Sum
No.	Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
		Wildhurst Lane - Ashcroft Drive to Lilias Driv												
70	254	Pavement Planing	1009	SY	\$1.50	\$1,513.50	\$1.70	\$1,715.30	\$3.00	\$3,027.00	\$3.50	\$3,531.50	\$1.70	\$1,715.30
71	301	Bituminous Aggregate Base, Spot Repairs	9	CY	\$275.00	\$2,475.00	\$290.00	\$2,610.00	\$250.00	\$2,250.00	\$456.00	\$4,104.00	\$325.00	\$2,925.00
72	407	Tack Coat	101	Gal	\$3.00	\$303.00	\$1.95	\$196.95	\$3.00	\$303.00	\$5.00	\$505.00	\$1.70	\$171.70
73	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	35	CY	\$166.00	\$5,810.00	\$169.00	\$5,915.00	\$174.00	\$6,090.00	\$205.00	\$7,175.00	\$165.00	\$5,775.00
74	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	21	CY	\$166.00	\$3,486.00	\$169.00	\$3,549.00	\$174.00	\$3,654.00	\$240.00	\$5,040.00	\$175.00	\$3,675.00
75	611	Manhole, Adjusted to Grade	3	EA	\$900.00	\$2,700.00	\$900.00	\$2,700.00	\$800.00	\$2,400.00	\$1,082.00	\$3,246.00	\$650.00	\$1,950.00
76	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,600.00	\$1,600.00	\$400.00	\$400.00	\$857.00	\$857.00	\$1,400.00	\$1,400.00
77	617	Compacted Aggregate, Type A	4	CY	\$20.00	\$80.00	\$140.00	\$560.00	\$100.00	\$400.00	\$204.00	\$816.00	\$150.00	\$600.00
	<u> </u>	Wastewater Treatment Plant Drive												
78	254	Pavement Planing	1588	SY	\$1.50	\$2,382.00	\$1.70	\$2,699.60	\$3.00	\$4,764.00	\$3.00	\$4,764.00	\$3.50	\$5,558.00
79	301	Bituminous Aggregate Base, Spot Repairs	30	CY	\$275.00	\$8,250.00	\$290.00	\$8,700.00	\$250.00	\$7,500.00	\$357.00	\$10,710.00	\$325.00	\$9,750.00
80	407	Tack Coat	159	Gal	\$3.00	\$477.00	\$1.95	\$310.05	\$3.00	\$477.00	\$3.00	\$477.00	\$1.70	\$270.30
81	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	55	CY	\$166.00	\$9,130.00	\$180.00	\$9,900.00	\$174.00	\$9,570.00	\$174.00	\$9,570.00	\$210.00	\$11,550.00
82	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	33	CY	\$166.00	\$5,478.00	\$180.00	\$5,940.00	\$174.00	\$5,742.00	\$195.00	\$6,435.00	\$215.00	\$7,095.00
83	617	Compacted Aggregate, Type A	4	CY	\$20.00	\$80.00	\$140.00	\$560.00	\$100.00	\$400.00	\$205.00	\$820.00	\$350.00	\$1,400.00
		Note: (*) Indicates Corrected Error	TOTAL	BASE BID:		\$338,818.00 *		\$371,507.35		\$386,537.00		\$438,707.70		\$393,764.50
		Note: () Indicates Corrected Error										1		
		Project #1 Alternate A			_	_				_		_		
	Amb	eside Road – Immergrun Drive to South Shore E	Roulovard											
1	254	Pavement Planing	2702	SY	\$1.50	\$4,053.00	\$1.70	\$4,593.40	\$3.00	\$8,106.00	\$2.50	\$6,755.00	\$1.70	\$4,593.40
2	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$275.00	\$4,125.00	\$290.00	\$4,350.00	\$200.00	\$3,000.00	\$426.00	\$6,390.00	\$325.00	\$4,875.00
3	407	Tack Coat	270	Gal	\$3.00	\$810.00	\$1.95	\$526.50	\$3.00	\$810.00	\$3.00	\$810.00	\$1.70	\$459.00
4	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	94	CY	\$166.00	\$15,604.00	\$165.00	\$15,510.00	\$174.00	\$16,356.00	\$171.00	\$16,074.00	\$165.00	\$15,510.00
5	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	56	CY	\$166.00	\$9,296.00	\$165.00	\$9,240.00	\$174.00	\$9,744.00	\$190.00	\$10,640.00	\$175.00	\$9,800.00
6	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,166.00	\$1,166.00	\$650.00	\$650.00
7	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,750.00	\$1,750.00	\$250.00	\$250.00	\$1,335.00	\$1,335.00	\$3,825.00	\$3,825.00
8	617	Compacted Aggregate, Type A	8	CY	\$20.00	\$160.00	\$140.00	\$1,120.00	\$100.00	\$800.00	\$173.00	\$1,384.00	\$150.00	\$1,200.00
	lı	nmergrun Drive – Bay Shore Road to Plympton	Circle											
9	254	Pavement Planing	1746	SY	\$1.50	\$2,619.00	\$1.70	\$2,968.20	\$3.00	\$5,238.00	\$3.00	\$5,238.00	\$1.70	\$2,968.20
10	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$275.00	\$4,125.00	\$290.00	\$4,350.00	\$200.00	\$3,000.00	\$453.00	\$6,795.00	\$325.00	\$4,875.00
11	407	Tack Coat	175	Gal	\$3.00	\$525.00	\$1.95	\$341.25	\$3.00	\$525.00	\$3.00	\$525.00	\$1.70	\$297.50
12	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	61	CY	\$166.00	\$10,126.00	\$165.00	\$10,065.00	\$174.00	\$10,614.00	\$176.00	\$10,736.00	\$165.00	\$10,065.00
13	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	36	CY	\$166.00	\$5,976.00	\$165.00	\$5,940.00	\$174.00	\$6,264.00	\$204.00	\$7,344.00	\$175.00	\$6,300.00
14	611	Catch Basin, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,028.00	\$1,028.00	\$1,100.00	\$1,100.00
15	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,750.00	\$1,750.00	\$250.00	\$250.00	\$1,645.00	\$1,645.00	\$3,000.00	\$3,000.00
16	617	Compacted Aggregate, Type A	5	CY	\$20.00	\$100.00	\$140.00	\$700.00	\$100.00	\$500.00	\$183.00	\$915.00	\$150.00	\$750.00
		Note: (*) Indicates Corrected Error	ALTERNA	ATE A BID:		\$59,819.00		\$65,004.35		\$67,057.00		\$78,780.00		\$70,268.10

Bid Tabulation

PROJECT #1 Asphalt Overlay Project #1

(Aldershot Lane, Ashcroft Drive, Blanche Drive, Boxelder Road, Colchester Road, James Road, Lilias Drive, Seaford Drive, Sugarbush Road, Wildhurst Lane, WWTP Drive)

Eng. Estimate: \$402,000.00

Date: Time: Opened Witness Bid Tab	s:	Thursday, May 3, 2018 2:00 PM Paul Roman, P.E. R. Shultz, P.E., B. Biniker, J. Bosh B. Biniker		6157 Walb Walbridge,		alt & Paving, Inc bridge Road e, OH 43465	2020 Gibsonbur	Paving, Inc. OCR 66 rg, OH 43431	218 E. Genoa, OH	43430-1634	1913 Nebra Toledo, 0	oska Avenue OH 43607	1539 Loi Elyria, C	Construcion Company 539 Lowell Street Flyria, OH 44035	
Ref	ODOT					nal Sum		nal Sum		l Sum		l Sum			
No.	Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
		Project #1 Alternate B													
		Ambleside Road – Bryan Road to Grisell Road	1												
1	254	Pavement Planing	935	SY	\$1.50	\$1,402.50	\$1.70	\$1,589.50	\$3.00	\$2,805.00	\$4.00	\$3,740.00	\$1.70	\$1,589.50	
2	301	Bituminous Aggregate Base, Spot Repairs	10	CY	\$275.00	\$2,750.00	\$290.00	\$2,900.00	\$200.00	\$2,000.00	\$522.00	\$5,220.00	\$325.00	\$3,250.00	
3	407	Tack Coat	94	Gal	\$3.00	\$282.00	\$1.95	\$183.30	\$3.00	\$282.00	\$5.00	\$470.00	\$1.70	\$159.80	
4	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	32	CY	\$166.00	\$5,312.00	\$166.00	\$5,312.00	\$174.00	\$5,568.00	\$213.00	\$6,816.00	\$165.00	\$5,280.00	
5	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	19	CY	\$166.00	\$3,154.00	\$166.00	\$3,154.00	\$174.00	\$3,306.00	\$282.00	\$5,358.00	\$175.00	\$3,325.00	
6	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00	\$1,555.00	\$1,555.00	\$1,500.00	\$1,500.00	
7	617	Compacted Aggregate, Type A	3	CY	\$20.00	\$60.00	\$140.00	\$420.00	\$100.00	\$300.00	\$266.00	\$798.00	\$150.00	\$450.00	
		Bryan Road - Stadium Road to Lagundovie Roa	ad												
8	301	Bituminous Aggregate Base, Spot Repairs	8	CY	\$275.00	\$2,200.00	\$300.00	\$2,400.00	\$330.00	\$2,640.00	\$1,182.00	\$9,456.00	\$325.00	\$2,600.00	
9	407	Tack Coat	7	GAL	\$3.00	\$21.00	\$1.95	\$13.65	\$3.00	\$21.00	\$40.00	\$280.00	\$1.70	\$11.90	
10	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	2	CY	\$166.00	\$332.00	\$166.00	\$332.00	\$174.00	\$348.00	\$1,944.00	\$3,888.00	\$165.00	\$330.00	
11	617	Compacted Aggregate, Type A	2	CY	\$20.00	\$40.00	\$140.00	\$280.00	\$100.00	\$200.00	\$434.00	\$868.00	\$150.00	\$300.00	
		Grisell Road - Stadium Road to Lagundovie Ro	ad												
12	254	Pavement Planing	5434	SY	\$1.50	\$8,151.00	\$1.70	\$9,237.80	\$3.00	\$16,302.00	\$2.00	\$10,868.00	\$1.70	\$9,237.80	
13	301	Bituminous Aggregate Base, Spot Repairs	40	CY	\$275.00	\$11,000.00	\$290.00	\$11,600.00	\$200.00	\$8,000.00	\$396.00	\$15,840.00	\$325.00	\$13,000.00	
14	407	Tack Coat	543	Gal	\$3.00	\$1,629.00	\$1.95	\$1,058.85	\$3.00	\$1,629.00	\$3.00	\$1,629.00	\$1.70	\$923.10	
15	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	189	CY	\$166.00	\$31,374.00	\$166.00	\$31,374.00	\$174.00	\$32,886.00	\$165.00	\$31,185.00	\$165.00	\$31,185.00	
16	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	113	CY	\$166.00	\$18,758.00	\$166.00	\$18,758.00	\$174.00	\$19,662.00	\$172.00	\$19,436.00	\$175.00	\$19,775.00	
17	611	Manhole, Adjusted to Grade	2	EA	\$900.00	\$1,800.00	\$900.00	\$1,800.00	\$800.00	\$1,600.00	\$1,494.00	\$2.988.00	\$650.00	\$1,300.00	
18	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,300.00	\$1,300.00	\$1,000.00	\$1,000.00	\$3,465.00	\$3,465.00	\$7,350.00	\$7,350.00	
19	617	Compacted Aggregate, Type A	15	CY	\$20.00	\$300.00	\$140.00	\$2,100.00	\$100.00	\$1,500.00	\$127.00	\$1,905.00	\$150.00	\$2,250.00	
		James Road - Grisell Road to Brvan Road													
20	254	Pavement Planing	935	SY	\$1.50	\$1,402.50	\$1.70	\$1,589.50	\$3.00	\$2,805.00	\$4.00	\$3,740.00	\$1.70	\$1,589.50	
21	301	Bituminous Aggregate Base, Spot Repairs	10	CY	\$275.00	\$2,750.00	\$290.00	\$2,900.00	\$200.00	\$2,000.00	\$471.00	\$4,710.00	\$325.00	\$3,250.00	
22	407	Tack Coat	94	Gal	\$3.00	\$282.00	\$1.95	\$183.30	\$3.00	\$282.00	\$4.00	\$376.00	\$1.70	\$159.80	
23	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	32	CY	\$166.00	\$5,312.00	\$166.00	\$5,312.00	\$174.00	\$5,568.00	\$213.00	\$6,816.00	\$165.00	\$5,280.00	
24	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	19	CY	\$166.00	\$3,154.00	\$166.00	\$3,154.00	\$174.00	\$3,306.00	\$282.00	\$5,358.00	\$175.00	\$3,325.00	
25	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250,00	\$214.00	\$214.00	\$1,500.00	\$1,500.00	
26	617	Compacted Aggregate, Type A	3	CY	\$20.00	\$60.00 *	\$140.00	\$420.00	\$100.00	\$300.00	\$267.00	\$801.00	\$150.00	\$450.00	
		agundovie Road – Grisell Road to Bay Shore Ro	hen												
27	301	Bituminous Aggregate Base. Spot Repairs	3	CY	\$275.00	\$825.00	\$475.00	\$1,425.00	\$330.00	\$990.00	\$2,505,00	\$7.515.00	\$325.00	\$975.00	
28	407	Tack Coat	3	GAL	\$3.00	\$9.00	\$1.95	\$5.85	\$3.00	\$9.00	\$100.00	\$300.00	\$1.70	\$5.10	
29	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	1	CY	\$166.00	\$166.00	\$166.00	\$166.00	\$174.00	\$174.00	\$2,095.00	\$2,095.00	\$165.00	\$165.00	
30	617	Compacted Aggregate, Type A	1	CY	\$20.00	\$20.00	\$140.00	\$140.00	\$100.00	\$100.00	\$1.075.00	\$1,075.00	\$150.00	\$150.00	
			ALTERN	ATE B BID:	Ţ	\$103.296.00 *	Ţ	\$111.108.75	4	\$118.083.00	7.,	\$158.765.00	T	\$120,666.50	
L		Note: (*) Indicates Corrected Error						,,. 		, ,					

Bid Tabulation

PROJECT #2 Asphalt Overlay Project #2

(Bellcourt Drive, Bellhaven Drive, Randall Drive, S. Whittlesey Avenue)

Eng. Estimate: \$255,000.00

Date: Time: Opened Witnes:	s:	Thursday, May 3, 2018 2:00 PM Paul Roman, P.E. R. Shultz, P.E., B. Biniker, J. Bosh	- - -	Bid Road		Bowers Asphalt & Paving, Inc 6157 Walbridge Road Walbridge, OH 43465		Paving, Inc. I CR 66 g, OH 43431	Henry W. Be 218 E. Genoa, OH	9th St.	1913 Nebra	g and Excavating aska Avenue OH 43607	1539 Lov	rucion Company vell Street 9H 44035
Bid Tab		B. Biniker		Bid Bond:	Pen	al Sum	Pen	al Sum	Pena	Sum	Pena	l Sum	Pena	I Sum
Ref No.	ODOT Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
		Bellcourt Drive - Starr Avenue to Randall Dri	ve											
1	254	Pavement Planing	1292	SY	\$1.50	\$1,938.00	\$1.90	\$2,454.80	\$3.00	\$3,876.00	\$4.00	\$5,168.00	\$1.90	\$2,454.80
2	301	Bituminous Aggregate Base, Spot Repairs	11	CY	\$275.00	\$3,025.00	\$275.00	\$3,025.00	\$200.00	\$2,200.00	\$552.00	\$6,072.00	\$400.00	\$4,400.00
3	407	Tack Coat	129	Gal	\$3.00	\$387.00	\$1.95	\$251.55	\$3.00	\$387.00	\$4.00	\$516.00	\$1.70	\$219.30
4	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	45	CY	\$164.00	\$7,380.00	\$173.00	\$7,785.00	\$162.00	\$7,290.00	\$210.00	\$9,450.00	\$170.00	\$7,650.00
5	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	27	CY	\$164.00	\$4,428.00	\$173.00	\$4,671.00	\$162.00	\$4,374.00	\$249.00	\$6,723.00	\$180.00	\$4,860.00
6	611	Catch Basin, Adjusted to Grade	2	EA	\$900.00	\$1,800.00	\$900.00	\$1,800.00	\$800.00	\$1,600.00	\$1,014.00	\$2,028.00	\$800.00	\$1,600.00
7	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$4,400.00	\$4,400.00	\$1,250.00	\$1,250.00	\$1,655.00	\$1,655.00	\$2,000.00	\$2,000.00
		Bellhaven Drive - Starr Avenue to Randall Dri	ive											
8	254	Pavement Planing	1292	SY	\$1.50	\$1,938.00	\$1.90	\$2,454.80	\$3.00	\$3,876.00	\$3.50	\$4,522.00	\$1.90	\$2,454.80
9	301	Bituminous Aggregate Base, Spot Repairs	11	CY	\$275.00	\$3,025.00	\$275.00	\$3,025.00	\$200.00	\$2,200.00	\$551.00	\$6,061.00	\$400.00	\$4,400.00
10	407	Tack Coat	129	Gal	\$3.00	\$387.00	\$1.95	\$251.55	\$3.00	\$387.00	\$3.00	\$387.00	\$1.70	\$219.30
11	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	45	CY	\$164.00	\$7,380.00	\$173.00	\$7,785.00	\$162.00	\$7,290.00	\$209.00	\$9,405.00	\$170.00	\$7,650.00
12	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	27	CY	\$164.00	\$4,428.00	\$173.00	\$4,671.00	\$162.00	\$4,374.00	\$247.00	\$6,669.00	\$180.00	\$4,860.00
13	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$4,400.00	\$4,400.00	\$1,200.00	\$1,200.00	\$1,655.00	\$1,655.00	\$2,000.00	\$2,000.00
		Randall Drive - Wheeling Street to Holly Driv	re l											
14	254	Pavement Planing	6014	SY	\$1.50	\$9,021.00	\$1.90	\$11,426.60	\$3.00	\$18,042.00	\$2.50	\$15,035.00	\$1.90	\$11,426.60
15	301	Bituminous Aggregate Base, Spot Repairs	25	CY	\$275.00	\$6,875.00	\$275.00	\$6,875.00	\$200.00	\$5,000.00	\$391.00	\$9,775.00	\$400.00	\$10,000.00
16	407	Tack Coat	601	Gal	\$3.00	\$1,803.00	\$1.95	\$1,171.95	\$3.00	\$1,803.00	\$3.00	\$1,803.00	\$1.70	\$1,021.70
17	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	209	CY	\$164.00	\$34,276.00	\$173.00	\$36,157.00	\$162.00	\$33,858.00	\$162.00	\$33,858.00	\$170.00	\$35,530.00
18	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	125	CY	\$164.00	\$20,500.00	\$173.00	\$21,625.00	\$162.00	\$20,250.00	\$184.00	\$23,000.00	\$180.00	\$22,500.00
19	611	Catch Basin, Adjusted to Grade	8	EA	\$900.00	\$7,200.00	\$900.00	\$7,200.00	\$800.00	\$6,400.00	\$1,065.00	\$8,520.00	\$800.00	\$6,400.00
20	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,191.00	\$1,191.00	\$1,000.00	\$1,000.00
21	614	Maintenance of Traffic	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$3,387.00	\$3,387.00	\$8,750.00	\$8,750.00
	S. I	Whittlesey Avenue – Starr Avenue to Luverne A	Avenue											
22	202	Curb Removed	310	FT	\$11.50	\$3,565.00	\$8.50	\$2,635.00	\$8.00	\$2,480.00	\$7.00	\$2,170.00	\$8.00	\$2,480.00
23	202	Ramp or Walk Removed	1514	SF	\$3.85	\$5,828.90	\$4.50	\$6,813.00	\$2.50	\$3,785.00	\$2.00	\$3,028.00	\$2.00	\$3,028.00
24	254	Pavement Planing	5428	SY	\$1.50	\$8,142.00	\$1.90	\$10,313.20	\$3.00	\$16,284.00	\$2.50	\$13,570.00	\$1.90	\$10,313.20
25	301	Bituminous Aggregate Base, Spot Repairs	50	CY	\$275.00	\$13,750.00	\$275.00	\$13,750.00	\$200.00	\$10,000.00	\$367.00	\$18,350.00	\$400.00	\$20,000.00
26	407	Tack Coat	543	Gal	\$3.00	\$1,629.00	\$1.95	\$1,058.85	\$3.00	\$1,629.00	\$3.00	\$1,629.00	\$1.70	\$923.10
27	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	188	CY	\$164.00	\$30,832.00	\$173.00	\$32,524.00	\$162.00	\$30,456.00	\$163.00	\$30,644.00	\$170.00	\$31,960.00
28	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22 (Scratch Course)	113	CY	\$164.00	\$18,532.00	\$173.00	\$19,549.00	\$162.00	\$18,306.00	\$181.00	\$20,453.00	\$180.00	\$20,340.00
29	608	4" Concrete Walk, APP	1514	SF	\$6.15	\$9,311.10	\$6.00	\$9,084.00	\$5.50	\$8,327.00	\$7.00	\$10,598.00	\$5.00	\$7,570.00
30	608	Curb Ramp, APP	16	EA	\$350.00	\$5,600.00	\$325.00	\$5,200.00	\$750.00	\$12,000.00	\$446.00	\$7,136.00	\$290.00	\$4,640.00
31	609	Curb, Type 6	310	FT	\$22.00	\$6,820.00	\$19.00	\$5,890.00	\$30.00	\$9,300.00	\$23.00	\$7,130.00	\$20.00	\$6,200.00
32	611	Curb Inlet, Adjusted to Grade	4	EA	\$900.00	\$3,600.00	\$900.00	\$3,600.00	\$1,000.00	\$4,000.00	\$970.00	\$3,880.00	\$1,100.00	\$4,400.00
33	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$4,119.00	\$4,119.00	\$10,000.00	\$10,000.00
		Note: (*) Indicates Corrected Error	TOTAL	BASE BID:		\$225,551.00		\$252,747.30		\$245,024.00		\$279,587.00		\$263,250.80

Bid Tabulation

PROJECT #3 Asphalt Overlay Project #3

(Bethany Avenue, Blandin Street, Croft Street, Garner Avenue, Metz Avenue, Toul Avenue, Watts Avenue)

Eng. Estimate: \$173,000.00

Date: Time: Opened	l by:	Thursday, May 3, 2018 2:00 PM Paul Roman, P.E.	- -		6157 Wal	alt & Paving, Inc bridge Road e, OH 43465	2020	Paving, Inc. O CR 66 rg, OH 43431	Henry W. Be 218 E. Genoa, OH		1913 Nebra	g and Excavating Iska Avenue OH 43607		trucion Company vell Street 0H 44035
Witness		R. Shultz, P.E., B. Biniker, J. Bosh B. Biniker		D: 1 D 1										
Bid Tab	ODOT			Bid Bond:		al Sum		nal Sum		l Sum		Sum		al Sum
No.	Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
		Bethany Avenue - Woodville Road to Toul Ave												
1	254	Pavement Planing	686	SY	\$1.50	\$1,029.00	\$1.90	\$1,303.40	\$3.00	\$2,058.00	\$5.00	\$3,430.00	\$1.80	\$1,234.80
3	301 407	Bituminous Aggregate Base, Spot Repairs Tack Coat	4 69	CY Gal	\$200.00 \$3.00	\$800.00 \$207.00	\$300.00 \$1.95	\$1,200.00 \$134.55	\$200.00 \$3.00	\$800.00 \$207.00	\$873.00 \$5.00	\$3,492.00 \$345.00	\$390.00	\$1,560.00 \$117.30
4	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	19	CY	\$190.00	\$3,610.00	\$177.00	\$3,363.00	\$174.00	\$3,306.00	\$278.00	\$5,282.00	\$1.70 \$180.00	\$3,420.00
5	614	Maintenance of Traffic	1	LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$440.00	\$440.00	\$750.00	\$750.00
6	617	Compacted Aggregate, Type A	3	CY	\$20.00	\$60.00	\$98.00	\$294.00	\$100.00	\$300.00	\$267.00	\$801.00	\$150.00	\$450.00
	L	Blandin Street – Garner Avenue to Oakdale Ave	nue											
7	254	Pavement Planing	4598	SY	\$1.50	\$6,897.00	\$1.90	\$8,736.20	\$3.00	\$13,794.00	\$2.50	\$11,495.00	\$1.80	\$8,276.40
8	301	Bituminous Aggregate Base, Spot Repairs	23	CY	\$200.00	\$4,600.00	\$300.00	\$6,900.00	\$200.00	\$4,600.00	\$411.00	\$9,453.00	\$390.00	\$8,970.00
9	407	Tack Coat	460	Gal	\$3.00	\$1,380.00	\$1.95	\$897.00	\$3.00	\$1,380.00	\$3.00	\$1,380.00	\$1.70	\$782.00
10	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	128	CY	\$190.00	\$24,320.00	\$177.00	\$22,656.00	\$174.00	\$22,272.00	\$174.00	\$22,272.00	\$180.00	\$23,040.00
11	611	Manhole, Adjusted to Grade	2	EA	\$900.00	\$1,800.00	\$900.00	\$1,800.00	\$800.00	\$1,600.00	\$1,191.00	\$2,382.00	\$800.00	\$1,600.00
12	611 614	Water Valve, Adjusted to Grade Maintenance of Traffic	1	EA LS	\$500.00 \$500.00	\$1,000.00 \$500.00	\$500.00 \$2,900.00	\$1,000.00 \$2,900.00	\$500.00 \$200.00	\$1,000.00 \$200.00	\$767.00 \$917.00	\$1,534.00 \$917.00	\$600.00 \$4,200.00	\$1,200.00 \$4,200.00
14	617	Compacted Aggregate, Type A	14	CY	\$20.00	\$280.00	\$98.00	\$1,372.00	\$100.00	\$1,400.00	\$177.00	\$2,478.00	\$150.00	\$2,100.00
		Croft Street – Sunshine Street to Oakdale Aver				+	713.00	Ţ.,Ţ.Z.	Ţ.50.00	Ţ.,.UU.UU	Ţ	+=, 0.00	Ţ.10.00	+=,
15	254	Pavement Planing	1650	SY	\$1.50	\$2,475.00	\$1.90	\$3,135.00	\$3.00	\$4,950.00	\$3.00	\$4,950.00	\$1.80	\$2,970.00
16	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$200.00	\$3,000.00	\$300.00	\$4,500.00	\$200.00	\$3,000.00	\$436.00	\$6,540.00	\$390.00	\$5,850.00
17	407	Tack Coat	165	Gal	\$3.00	\$495.00	\$1.95	\$321.75	\$3.00	\$495.00	\$3.00	\$495.00	\$1.70	\$280.50
18	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	92	CY	\$190.00	\$17,480.00	\$177.00	\$16,284.00	\$174.00	\$16,008.00	\$173.00	\$15,916.00	\$180.00	\$16,560.00
19	614	Maintenance of Traffic	1	LS	\$500.00	\$500.00	\$1,700.00	\$1,700.00	\$200.00	\$200.00	\$1,440.00	\$1,440.00	\$3,000.00	\$3,000.00
20	617	Compacted Aggregate, Type A	11	CY	\$20.00	\$220.00	\$98.00	\$1,078.00	\$100.00	\$1,100.00	\$157.00	\$1,727.00	\$150.00	\$1,650.00
		Garner Avenue – Woodville Road to Blandin St	reet		A	******	A	A					A	
21 22	254 301	Pavement Planing	2200	SY CY	\$1.50 \$200.00	\$3,300.00 \$2,200.00	\$1.90 \$300.00	\$4,180.00	\$3.00 \$200.00	\$6,600.00 \$2,200.00	\$3.00 \$519.00	\$6,600.00 \$5,709.00	\$1.80 \$390.00	\$3,960.00 \$4,290.00
23	407	Bituminous Aggregate Base, Spot Repairs Tack Coat	11 220	Gal	\$3.00	\$2,200.00	\$300.00	\$3,300.00 \$429.00	\$200.00	\$2,200.00	\$3.00	\$660.00	\$390.00	\$4,290.00
24	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	61	CY	\$190.00	\$11,590.00	\$177.00	\$10,797.00	\$174.00	\$10,614.00	\$200.00	\$12,200.00	\$180.00	\$10,980.00
25	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,192.00	\$1,192.00	\$800.00	\$800.00
26	614	Maintenance of Traffic	1	LS	\$500.00	\$500.00	\$1,700.00	\$1,700.00	\$200.00	\$200.00	\$496.00	\$496.00	\$2,200.00	\$2,200.00
27	617	Compacted Aggregate, Type A	7	CY	\$20.00	\$140.00	\$98.00	\$686.00	\$100.00	\$700.00	\$135.00	\$945.00	\$150.00	\$1,050.00
		Metz Avenue - Blandin Street to Toul Avenue												
28	254	Pavement Planing	1408	SY	\$1.50	\$2,112.00	\$1.90	\$2,675.20	\$3.00	\$4,224.00	\$3.50	\$4,928.00	\$1.80	\$2,534.40
29	301	Bituminous Aggregate Base, Spot Repairs	8	CY	\$200.00	\$1,600.00	\$300.00	\$2,400.00	\$200.00	\$1,600.00	\$502.00	\$4,016.00	\$390.00	\$3,120.00
30	407	Tack Coat	141	Gal	\$3.00	\$423.00	\$1.95	\$274.95	\$3.00	\$423.00	\$3.00	\$423.00	\$1.70	\$239.70
31	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	39	CY	\$190.00	\$7,410.00	\$177.00	\$6,903.00	\$174.00	\$6,786.00	\$224.00	\$8,736.00	\$180.00	\$7,020.00
32	611	Manhole, Adjusted to Grade	1	EA	\$900.00	\$900.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,191.00	\$1,191.00	\$800.00	\$800.00
33 34	614 617	Maintenance of Traffic Compacted Aggregate, Type A	5	LS CY	\$500.00 \$20.00	\$500.00 \$100.00	\$1,700.00 \$98.00	\$1,700.00 \$490.00	\$1,000.00 \$100.00	\$1,000.00 \$500.00	\$1,440.00 \$184.00	\$1,440.00 \$920.00	\$1,600.00 \$150.00	\$1,600.00 \$750.00
34				U1	Ψ20.00	φ100.00	φ30.00	ψ+30.00	ψ100.00	φυσυ.συ	ψ104.00	ψ320.00	φ150.00	φ130.00
35	254	Toul Avenue – Garner Avenue to Oakdale Aven Pavement Planing	2934	SY	\$1.50	\$4,401,00	\$1.90	\$5,574.60	\$3.00	\$8.802.00	\$2.50	\$7,335.00	\$1.80	\$5,281.20
36	301	Bituminous Aggregate Base, Spot Repairs	15	CY	\$200.00	\$3,000.00	\$300.00	\$4,500.00	\$200.00	\$3,000.00	\$437.00	\$6,555.00	\$390.00	\$5,850.00
37	407	Tack Coat	293	Gal	\$3.00	\$879.00	\$1.95	\$571.35	\$3.00	\$879.00	\$3.00	\$879.00	\$1.70	\$498.10
38	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	82	CY	\$190.00	\$15,580.00	\$177.00	\$14,514.00	\$174.00	\$14,268.00	\$173.00	\$14,186.00	\$180.00	\$14,760.00
39	614	Maintenance of Traffic	1	LS	\$500.00	\$500.00	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00	\$1,440.00	\$1,440.00	\$3,000.00	\$3,000.00
40	617	Compacted Aggregate, Type A	10	CY	\$20.00	\$200.00	\$98.00	\$980.00	\$100.00	\$1,000.00	\$142.00	\$1,420.00	\$150.00	\$1,500.00
		Watts Avenue - Blandin Street to Toul Avenue												
41	254	Pavement Planing	1136	SY	\$1.50	\$1,704.00	\$1.90	\$2,158.40	\$3.00	\$3,408.00	\$3.50	\$3,976.00	\$1.80	\$2,044.80
42	301 407	Bituminous Aggregate Base, Spot Repairs Tack Coat	6 114	CY Gal	\$200.00 \$3.00	\$1,200.00 \$342.00	\$300.00 \$1.95	\$1,800.00 \$222.30	\$200.00 \$3.00	\$1,200.00 \$342.00	\$619.00	\$3,714.00 \$456.00	\$390.00 \$1.70	\$2,340.00 \$193.80
44	441	Asphalt Concrete Surface Course, Type 1, (448), PG64-22	32	CY	\$3.00	\$6,080.00	\$1.95	\$5,664.00	\$3.00	\$5,568.00	\$4.00 \$216.00	\$6,912.00	\$1.70	\$193.80
45	611	Water Valve, Adjusted to Grade	1	EA	\$500.00	\$500.00 *	\$500.00	\$500.00	\$500.00	\$500.00	\$730.00	\$730.00	\$600.00	\$600.00
46	614	Maintenance of Traffic	1	LS	\$500.00	\$500.00	\$1,900.00	\$1,900.00	\$1,000.00	\$1,000.00	\$1,890.00	\$1,890.00	\$1,250.00	\$1,250.00
47	617	Compacted Aggregate, Type A	5	CY	\$20.00	\$100.00	\$98.00	\$490.00	\$100.00	\$500.00	\$184.00	\$920.00	\$150.00	\$750.00
		Note: (*) Indicates Corrected Error	TOTAL	BASE BID:		\$138,224.00 *		\$158,984.70		\$158,244.00		\$196,638.00		\$171,557.00

PROJECT #4 Various Pavement Repairs

Bid Tabulation

(Bethany Avenue, Blandin Street, Croft Street, Garner Avenue, Metz Avenue, Toul Avenue, Watts Avenue)

<u> </u>	IUD	<u>uration</u>			Eng. Estimate:	\$78,000.00						
Date:		Thursday, May 3, 2018				nalt & Paving, Inc		Paving, Inc.		Bergman, Inc.		ng and Excavating
Time:		2:00 PM				lbridge Road		0 CR 66		E. 9th St.		raska Avenue
Opene		Paul Roman, P.E.			Walbridg	e, OH 43465	Gibsonbu	ırg, OH 43431	Genoa, O	H 43430-1634	Toledo,	OH 43607
Witnes		R. Shultz, P.E., B. Biniker, J. Bosh										
Bid Ta		B. Biniker		Bid Bond:	Pe	nal Sum	Pe	enal Sum	Pe	nal Sum	Pe	nal Sum
Ref No.	ODOT Item#		Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
140.	Itemin	Brown Road – Lallendorf Road to Stadium Ro		Offic	Office	Total Frice	Offic Frice	Total Frice	Offic Frice	Total File	Offic Frice	TOTAL FILLE
1	301	Bituminous Aggregate Base, Spot Repairs	93	CY	\$400.00	\$37,200.00	\$340.00	\$31,620.00	\$330.00	\$30,690.00	\$369.00	\$34,317.00
2	407	Tack Coat	56	GAL	\$3.00	\$168.00	\$1.95	\$109.20	\$5.00	\$280.00	\$7.00	\$392.00
3	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	16	CY	\$600.00	\$9,600.00	\$630.00	\$10,080.00	\$630.00	\$10,080.00	\$306.00	\$4,896.00
4	617		12	CY	\$20.00	\$240.00	\$160.00	\$1,920.00	\$100.00	\$1,200.00	\$197.00	\$2,364.00
	017	Coy Road - Pickle Road to Dustin Road	12	5	Ψ20.00	Ψ2-40.00	Ψ100.00	ψ1,320.00	Ψ100.00	ψ1,200.00	ψ137.00	Ψ2,304.00
5	301	Bituminous Aggregate Base, Spot Repairs	20	CY	\$650.00	\$13,000.00	\$340.00	\$6,800.00	\$330.00	\$6,600.00	\$425.00	\$8,500.00
6	407	Tack Coat	12	GAL	\$3.00	\$36.00	\$1.95	\$23.40	\$5.00	\$60.00	\$20.00	\$240.00
7	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	4	CY	\$750.00	\$3,000.00	\$630.00	\$2,520.00	\$630.00	\$2,520.00	\$811.00	\$3,244.00
8	617	Compacted Aggregate, Type A	3	CY	\$20.00	\$60.00	\$160.00	\$480.00	\$100.00	\$300.00	\$295.00	\$885.00
	017	Pickle Road - Coy Road to Lallendorf Road		01	Ψ20.00	Ψ00.00	Ψ100.00	Ψ100.00	Ψ100.00	φοσσ.σσ	Ψ200.00	φοσο.σσ
9	301	Bituminous Aggregate Base, Spot Repairs	22	CY	\$650.00	\$14,300.00	\$340.00	\$7,480.00	\$330.00	\$7,260.00	\$481.00	\$10,582.00
10	407	Tack Coat	13	GAL	\$3.00	\$39.00	\$1.95	\$25.35	\$5.00	\$65.00	\$20.00	\$260.00
11	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	4	CY	\$750.00	\$3,000.00	\$630.00	\$2,520.00	\$630.00	\$2,520.00	\$1,014.00	\$4,056.00
12	617	Compacted Aggregate, Type A Wynn Road - Brown Road to South Limits	CY	\$20.00	\$80.00	\$160.00	\$640.00	\$100.00	\$400.00	\$225.00	\$900.00	
13	301	Bituminous Aggregate Base, Spot Repairs	27	CY	\$650.00	\$17,550.00	\$340.00	\$9,180.00	\$330.00	\$8,910.00	\$388.00	\$10,476.00
14	407	Tack Coat	16	GAL	\$3.00	\$48.00	\$1.95	\$31.20	\$5.00	\$80.00	\$15.00	\$240.00
15	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	5	CY	\$750.00	\$3,750.00	\$630.00	\$3,150.00	\$630.00	\$3,150.00	\$504.00	\$2,520.00
16	617	Compacted Aggregate, Type A	4	CY	\$20.00	\$80.00	\$160.00	\$640.00	\$100.00	\$400.00	\$225.00	\$900.00
			TOTAL B	ASE BID:		\$102,151.00 *		\$77,219.15		\$74,515.00		\$84,772.00
		Alternate Bid A Brown Road – Lallendorf Road to Stadium Ro	ad									
1	301	Bituminous Aggregate Base, Spot Repairs	93	CY	\$400.00	\$37,200.00	\$340.00	\$31,620.00	\$330.00	\$30,690.00	\$319.00	\$29,667.00
2	407	Tack Coat	56	GAL	\$3.00	\$168.00	\$1.95	\$109.20	\$5.00	\$280.00	\$5.00	\$280.00
3	441	Asphalt Concrete Surface Course, Type 1	16	CY	\$600.00	\$9,600.00	\$630.00	\$10,080.00	\$630.00	\$10,080.00	\$360.00	\$5,760.00
4	617	(448), PG64-22 Compacted Aggregate, Type A	12	CY	\$20.00	\$240.00	\$160.00	\$1,920.00	\$100.00	\$1,200.00	\$149.00	\$1,788.00
-	317	Conpacted Aggregate, Type A Coy Road – Pickle Road to Dustin Road	14		Ψ20.00	Ψ270.00	ψ100.00	ψ1,020.00	ψ100.00	ψ1,200.00	ψ173.00	ψ1,100.00
5	301	Bituminous Aggregate Base, Spot Repairs	20	CY	\$650.00	\$13,000.00	\$340.00	\$6,800.00	\$330.00	\$6,600.00	\$468.00	\$9,360.00
6	407	Tack Coat	12	GAL	\$3.00	\$36.00	\$1.95	\$23.40	\$5.00	\$60.00	\$20.00	\$240.00
7	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	4	CY	\$750.00	\$3,000.00	\$630.00	\$2,520.00	\$630.00	\$2,520.00	\$481.00	\$1,924.00
8	617	Compacted Aggregate, Type A	3	CY	\$20.00	\$60.00	\$160.00	\$480.00	\$100.00	\$300.00	\$267.00	\$801.00
		Pickle Road - Coy Road to Lallendorf Road		0	000.77	0040:	005.55	004.0== ==	005.55	000 000	00/177	A00 5
9	202	Excavation	693	CY	\$36.00	\$24,948.00	\$35.00	\$24,255.00	\$29.00	\$20,097.00	\$34.00	\$23,562.00
10	301	Bituminous Aggregate Base, Spot Repairs	715	CY	\$150.00	\$107,250.00	\$230.00	\$164,450.00	\$200.00	\$143,000.00	\$245.00	\$175,175.00
11 12	304 407	Aggregate Base Tack Coat	693 428	CY GAL	\$36.00 \$3.00	\$24,948.00 \$1,284.00	\$46.00 \$1.95	\$31,878.00 \$834.60	\$55.00 \$5.00	\$38,115.00 \$2,140.00	\$64.00 \$3.00	\$44,352.00 \$1,284.00
13	441	Asphalt Concrete Surface Course, Type 1	428	CY	\$3.00 \$750.00	\$1,284.00 \$3,000.00 *	\$1.95 \$630.00	\$2,520.00	\$630.00	\$2,140.00	\$3.00	\$1,284.00
14	617	(448), PG64-22 Compacted Aggregate, Type A	120	CY	\$20.00	\$2,400.00	\$68.00	\$8,160.00	\$60.00	\$7,200.00	\$65.00	\$7,800.00
	017	Wynn Road – Brown Road to South Limits	1 120	Ŭ.	Ψ20.00	Ψ2, 400.00	ψοσ.σσ	ψ0,100.00	ψ00.00	ψ1,200.00	ψοσ.σσ	ψ1,000.00
15	301	Bituminous Aggregate Base, Spot Repairs	27	CY	\$650.00	\$17,550.00	\$340.00	\$9,180.00	\$330.00	\$8,910.00	\$798.00	\$21,546.00
16	407	Tack Coat	16	GAL	\$3.00	\$48.00	\$1.95	\$31.20	\$5.00	\$80.00	\$15.00	\$240.00
17	441	Asphalt Concrete Surface Course, Type 1 (448), PG64-22	5	CY	\$750.00	\$3,750.00	\$630.00	\$3,150.00	\$630.00	\$3,150.00	\$487.00	\$2,435.00
18	617		4	CY	\$20.00	\$80.00	\$160.00	\$640.00	\$100.00	\$400.00	\$225.00	\$900.00
	017	Compaciou Aggregate, Type A	. 4	υı	Ψ20.00	ψυυ.υυ	ψ100.00	ψυτυ.υυ	ψ100.00	Ψ+00.00	ΨΖΖΟ.ΟΟ	ψουυ.υυ

City of Oregon, Ohio

2018 ROADWAY IMPROVEMENT PROGRAM Bid Tabulation

PROJECT #5 Munding Road Concrete Repair

Eng. Estimate:

\$35,000.00

\$44,760.00

\$35,708.00

Crestline Paving and Excavating Quinn Concrete Construcion, Inc Date: Thursday, May 3, 2018 2:00 PM 1913 Nebraska Avenue P.O. Box 80065 Time: Paul Roman, P.E. Toledo, OH 43607 Toledo, OH 43608 Opened by: R. Shultz, P.E., B. Biniker, J. Bosh Witness: B. Biniker Bid Bond: Bid Tab: Penal Sum Penal Sum Ref **ODOT** Quantity No. Item# **Item Description** Unit **Unit Price Total Price Unit Price Total Price** Full Depth Joint Repairs, 9", MS 1 452 188 SY \$165.00 \$31,020.00 \$135.00 \$25,380.00 609 Integral Curb, Type 2A 141 LF \$17.00 \$2,397.00 \$8.00 \$1,128.00 Catch Basin Reconstruct EΑ \$1,312.00 \$5,248.00 \$1,800.00 \$7,200.00 3 611 4 4 Maintenance of Traffic 1 LS \$6,095.00 \$6,095.00 \$2,000.00 \$2,000.00 614

TOTAL BASE BID:

City of Oregon, Ohio

2018 ROADWAY IMPROVEMENT PROGRAM <u>Bid Tabulation</u>

PROJECT #6 South Shore Park Improvements

Eng. Estimate: \$110,000.00

Date: Time: Opened Witness	s:	Thursday, May 3, 2018 2:00 PM Paul Roman, P.E. R. Shultz, P.E., B. Biniker, J. Bosh	- - -		Gerken Pa 2020 (Gibsonburg,	CR 66	Henry W. Be 218 E. Genoa, OH	9th St.	1913 Nebra	and Excavating ska Avenue DH 43607	200 S. We	en, Inc stwood Ave OH 43607
Bid Tal			Bid Bond:		Penal	Sum	Pena	Sum	Pena	I Sum	Penal Sum	
Ref No.	ODOT Item#	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	202	Pavement Removed	236	SY	\$8.00	\$1,888.00	\$7.00	\$1,652.00	\$11.00	\$2,596.00	\$10.00	\$2,360.00
2	204	Subgrade Compaction	207	SY	\$2.00	\$414.00	\$1.00	\$207.00	\$2.00	\$414.00	\$5.00	\$1,035.00
3	301	Bituminous Aggregate Base	14	CY	\$245.00	\$3,430.00	\$330.00	\$4,620.00	\$389.00	\$5,446.00	\$185.00	\$2,590.00
4	304	Aggregate Base	111	CY	\$75.00	\$8,325.00	\$50.00	\$5,550.00	\$95.00	\$10,545.00	\$85.00	\$9,435.00
5	407	Tack Coat	277	Gal	\$1.95	\$540.15	\$5.00	\$1,385.00	\$3.00	\$831.00	\$2.25	\$623.25
6	441	Asphalt Concrete Surface Course, Type 1, (448), PG64- 22	98	CY	\$285.00	\$27,930.00	\$210.00	\$20,580.00	\$160.00	\$15,680.00	\$200.00	\$19,600.00
7	441	Asphalt Concrete Surface Course, Type 1, (448), PG64- 22 (Scratch Course)	134	CY	\$208.00	\$27,872.00	\$210.00	\$28,140.00	\$170.00	\$22,780.00	\$190.00	\$25,460.00
8	608	4" Concrete Walk	1682	SF	\$5.40	\$9,082.80	\$6.00	\$10,092.00	\$12.00	\$20,184.00	\$5.00	\$8,410.00
9	608	Detectable Warning, APP	6	EA	\$325.00	\$1,950.00	\$800.00	\$4,800.00	\$325.00	\$1,950.00	\$575.00	\$3,450.00
10	611	4" Perforated Underdrain, APP	1152	FT	\$15.00	\$17,280.00	\$7.00	\$8,064.00	\$12.00	\$13,824.00	\$8.75	\$10,080.00
11	611	Yard Basin, APP	2	EA	\$750.00	\$1,500.00	\$350.00	\$700.00	\$1,463.00	\$2,926.00	\$850.00	\$1,700.00
12	611	Conduit, Type B	40	FT	\$40.00	\$1,600.00	\$50.00	\$2,000.00	\$95.00	\$3,800.00	\$75.00	\$3,000.00
13	617	Compacted Aggregate, Type A	49	CY	\$75.00	\$3,675.00	\$55.00	\$2,695.00	\$101.00	\$4,949.00	\$150.00	\$7,350.00
14	SPEC	Restoration, APP	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00
15	SPEC	Grading, APP	1	LS	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$9,829.00	\$9,829.00	\$8,750.00	\$8,750.00
		Ţ	OTAL BAS	E BID:		\$114,486.95		\$98,985.00		\$124,754.00		\$112,843.25

City of Oregon, Ohio

2018 ROADWAY IMPROVEMENT PROGRAM <u>Bid Tabulation</u>

PROJECT #7 Navarre Avenue Resurfacing

Eng. Estimate: \$43,000.00

Date:		Thursday, May 3, 2018			Gerken Pa	ving, Inc.	Henry W. Be	ergman, Inc.	Crestline Paving	and Excavating
Time:		2:00 PM			2020 (CR 66	218 E.	9th St.	1913 Nebra	ska Avenue
Opened	l by:	Paul Roman, P.E.			Gibsonburg,	OH 43431	Genoa, OH	43430-1634	Toledo, (OH 43607
Witness	s:	R. Shultz, P.E., B. Biniker, J. Bosh	•							
Bid Tab	:	B. Biniker	Bid Bond:		Penal	l Sum Per		l Sum	Pena	l Sum
Ref No.	o. Item# Item Description		Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	202	Pavement Removed	52	SY	\$180.00	\$9,360.00	\$100.00	\$5,200.00	\$35.00	\$1,820.00
2	202	Excavation	10	CY	\$38.00	\$380.00	\$20.00	\$200.00	\$57.00	\$570.00
3	254	Pavement Planing	1452	SY	\$3.50	\$5,082.00	\$3.00	\$4,356.00	\$4.00	\$5,808.00
4	301	Bituminous Aggregate Base, Spot Repairs	20	CY	\$450.00	\$9,000.00	\$330.00	\$6,600.00	\$406.00	\$8,120.00
5	304	Aggregate Base	10	CY	\$55.00	\$550.00	\$30.00	\$300.00	\$81.00	\$810.00
6	407	Tack Coat	145	Gal	\$1.95	\$282.75	\$3.00	\$435.00	\$3.00	\$435.00
7	441	Asphalt Concrete Surface Course, Type 1, (448), PG64- 22	50	CY	\$225.00	\$11,250.00	\$174.00	\$8,700.00	\$198.00	\$9,900.00
8	8 441 Asphalt Concrete Surface Course, Type 2, (448)		71	CY	\$195.00	\$13,845.00	\$174.00	\$12,354.00	\$168.00	\$11,928.00
9	9 614 Maintenance of Traffic		1	LS	\$9,800.00	\$9,800.00	\$6,000.00	\$6,000.00	\$6,147.00	\$6,147.00
10	10 617 Compacted Aggregate, Type A		4	CY	\$200.00	\$800.00	\$100.00	\$400.00	\$225.00	\$900.00
		TO	OTAL BAS	E BID:	\$60,349.75			\$44,545.00		\$46,438.00